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Risposte

1. 7.336

2. 6.486

3. 13.574

4. 10.845

5. 10.823

6. 5.396

7. 10.352

8. 11.199

9. 7.686

10. 13.989

11. 16.138

12. 13.058

13. 5.498

14. 11.292

15. 17.091

16. 5.121

17. 9.359

18. 7.935

19. 6.738

20. 3.782

Risolvi ogni problema.

1) 5.951 + 1.385 = 7.336

2) 4.001 + 2.485 = 6.486

3) 8.765 + 4.809 = 13.574

4) 7.888 + 2.957 = 10.845

5) 6.081 + 4.742 = 10.823

6) 3.258 + 2.138 = 5.396

7) 6.962 + 3.390 = 10.352

8) 9.309 + 1.890 = 11.199

9) 5.675 + 2.011 = 7.686

10) 8.363 + 5.626 = 13.989

11) 8.429 + 7.709 = 16.138

12) 6.606 + 6.452 = 13.058

13) 3.346 + 2.152 = 5.498

14) 7.186 + 4.106 = 11.292

15) 9.909 + 7.182 = 17.091

16) 2.781 + 2.340 = 5.121

17) 5.182 + 4.177 = 9.359

18) 6.387 + 1.548 = 7.935

19) 3.438 + 3.300 = 6.738

20) 2.043 + 1.739 = 3.782



Nome: Soluzioni

Matematica www.CommonCoreSheets.it 1

Risposte

1. 7.336

2. 6.486

3. 13.574

4. 10.845

5. 10.823

6. 5.396

7. 10.352

8. 11.199

9. 7.686

10. 13.989

11. 16.138

12. 13.058

13. 5.498

14. 11.292

15. 17.091

16. 5.121

17. 9.359

18. 7.935

19. 6.738

20. 3.782

Risolvi ogni problema.

1) 5.951 + 1.385 = 7.336

2) 4.001 + 2.485 = 6.486

3) 8.765 + 4.809 = 13.574

4) 7.888 + 2.957 = 10.845

5) 6.081 + 4.742 = 10.823

6) 3.258 + 2.138 = 5.396

7) 6.962 + 3.390 = 10.352

8) 9.309 + 1.890 = 11.199

9) 5.675 + 2.011 = 7.686

10) 8.363 + 5.626 = 13.989

11) 8.429 + 7.709 = 16.138

12) 6.606 + 6.452 = 13.058

13) 3.346 + 2.152 = 5.498

14) 7.186 + 4.106 = 11.292

15) 9.909 + 7.182 = 17.091

16) 2.781 + 2.340 = 5.121

17) 5.182 + 4.177 = 9.359

18) 6.387 + 1.548 = 7.935

19) 3.438 + 3.300 = 6.738

20) 2.043 + 1.739 = 3.782

1-10 95 90 85 80 75 70 65 60 55 50
11-20 45 40 35 30 25 20 15 10 5 0



Nome: Soluzioni

Matematica www.CommonCoreSheets.it
Semplificato 1

Risolvi ogni problema.

7.686 10.845 5.396 16.138

10.352 7.336 11.199 13.058

10.823 13.989 13.574 6.486

1) 5.951 + 1.385 = 7.336

2) 4.001 + 2.485 = 6.486

3) 8.765 + 4.809 = 13.574

4) 7.888 + 2.957 = 10.845

5) 6.081 + 4.742 = 10.823

6) 3.258 + 2.138 = 5.396

7) 6.962 + 3.390 = 10.352

8) 9.309 + 1.890 = 11.199

9) 5.675 + 2.011 = 7.686

10) 8.363 + 5.626 = 13.989

11) 8.429 + 7.709 = 16.138

12) 6.606 + 6.452 = 13.058

Risposte

1. 7.336

2. 6.486

3. 13.574

4. 10.845

5. 10.823

6. 5.396

7. 10.352

8. 11.199

9. 7.686

10. 13.989

11. 16.138

12. 13.058

1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0
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